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AS SOCIOLOGY COMPONENT 2

All Candidates' performance across questions

Question Title Mean Max Mark FF Attempt %

la 349 3.9 0.9 5 77.6 100

AS SOCIOLOGY COMPONENT 2

Question

90 100

Facility Factor %



Sticky Note
Usually the question number

Sticky Note
The number of candidates attempting that question


Sticky Note
The mean score is calculated by adding up the individual candidate scores and dividing by the total number of candidates. If all candidates perform well on a particular item, the mean score will be close to the maximum mark. Conversely, if candidates as a whole perform poorly on the item there will be a large difference between the mean score and the maximum mark. A simple comparison of the mean marks will identify those items that contribute significantly to the overall performance of the candidates.
However, because the maximum mark may not be the same for each item, a comparison of the means provides only a partial indication of candidate performance. Equal means does not necessarily imply equal performance. For questions with different maximum marks, the facility factor should be used to compare performance.


Sticky Note
The standard deviation measures the spread of the data about the mean score. The larger the standard deviation is, the more dispersed (or less consistent) the candidate performances are for that item. An increase in the standard deviation points to increased diversity amongst candidates, or to a more discriminating paper, as the marks are more dispersed about the centre. By contrast a decrease in the standard deviation would suggest more homogeneity amongst the candidates, or a less discriminating paper, as candidate marks are more clustered about the centre.


Sticky Note
This is the maximum mark for a particular question


Sticky Note
The facility factor for an item expresses the mean mark as a percentage of the maximum mark (Max. Mark) and is a measure of the accessibility of the item. If the mean mark obtained by candidates is close to the maximum mark, the facility factor will be close to 100 per cent and the item would be considered to be very accessible. If on the other hand the mean mark is low when compared with the maximum score, the facility factor will be small and the item considered less accessible to candidates.


Sticky Note
For each item the table shows the number (N) and percentage of candidates who attempted the question. When comparing items on this measure it is important to consider the order in which the items appear on the paper. If the total time available for a paper is limited, there is the possibility of some candidates running out of time. This may result in those items towards the end of the paper having a deflated figure on this measure. If the time allocated to the paper is not considered to be a significant factor, a low percentage may indicate issues of accessibility. Where candidates have a choice of question the statistics evidence candidate preferences, but will also be influenced by the teaching policy within centres.
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INTRODUCTION

This marking scheme was used by WJEC for the 2018 examination. It was finalised after
detailed discussion at examiners' conferences by all the examiners involved in the
assessment. The conference was held shortly after the paper was taken so that reference
could be made to the full range of candidates' responses, with photocopied scripts forming
the basis of discussion. The aim of the conference was to ensure that the marking scheme
was interpreted and applied in the same way by all examiners.

It is hoped that this information will be of assistance to centres but it is recognised at the
same time that, without the benefit of participation in the examiners' conference, teachers
may have different views on certain matters of detail or interpretation.

WJEC regrets that it cannot enter into any discussion or correspondence about this marking
scheme.

© WJEC CBAC Ltd.





EDUQAS GCE AS SOCIOLOGY
COMPONENT 2 - METHODS OF SOCIOLOGICAL ENQUIRY

SUMMER 2018 MARK SCHEME

Gang membership and teenage offending

Smith and Bradshaw (2005) undertook a longitudinal study to explore gang membership
and youth offending. The study used a wide range of research methods including self-
complete questionnaires with young people conducted annually to identify changes and
patterns. This was followed by semi structured interviews, for depth and detail with a
subsample of young people. At the same time, a sample of teachers and parents completed
questionnaires. The researchers also examined records of social work reports and
children’s hearings (a type of youth court). Smith and Bradshaw concluded that rates of
gang membership were higher in more deprived areas and among one-parent families.

Adapted from A2 Sociology, Moore, S. Aiken, D. and Chapman,S. (2009)

1. (@) Using material from the item and sociological knowledge explain the meaning
of the term longitudinal study. [5]

Answers should include accurate knowledge points for band 3 AO1. Points
should be supported with examples and/or evidence. For band 3 AO2 a clear
explanation of the examples/evidence should be present.

Indicative content

o A definition of the term longitudinal study e.g. a study of a group or
individual over a long period of time that revisits at regular intervals.

¢ Qualitative studies that follow people over time such as 7up.

Quantitative studies which track populations to discover patterns and

trends such as Understanding Society.

Snapshot in time vs change and development.

Drop-out rates (sample attrition).

Issues of reliability and validity.

The item should be used to demonstrate understanding.

Any other reasonable response.

© WJEC CBAC Ltd.





Band

AO1
elements 2a & 2b

AO2
element 1b

3 marks

Answers demonstrate detailed
knowledge and understanding of
sociological

2 marks

Answers demonstrate accurate and relevant
selection of appropriate sociological
theories/ concepts/evidence/research

3 theories/concepts/evidence relating to | methods. These are applied and interpreted
the context of the debate/question as | in the context of the debate/question.
applied to research methods Reference will be made to the item to show

the ability to select appropriate examples.
2 marks 1 mark
Answers demonstrate some Answers demonstrate some ability to select,
knowledge and understanding of apply and interpret appropriate sociological

2 sociological theories/concepts/evidence/research
theories/concepts/evidence relating to | methods in the context of the
the context of the debate/question as | debate/question.
applied to research methods
1 mark
Answers demonstrate basic
knowledge and understanding of

1 sociological
theories/concepts/evidence relating to
the context of the debate/question as
applied to research methods
0 marks 0 marks
NRSP NRSP

© WJEC CBAC Ltd.






1. (b) Using material from the item and sociological knowledge, explain two
possible reasons why the researchers decided to use more than one method
in their research. [10]
There should be two reasons for AO1 band 3. These reasons can be
theoretical, practical or methodological and must contain technical language.
For AO2 band 3 the reasons must be contextualised and explained with
reference to methodological issues and contextualised.
Indicative content
e To compensate the weaknesses of one method.
e To gain a more holistic view.
e To gain different types of data (qualitative and quantitative).
e To get a range of views from parents, teachers and young people.
e The item should be used to contextualise the reasons offered.
e Any other reasonable response.
Band AO1 AO2
elements 2a & 2b element 1b
5-6 marks 4 marks
Answers demonstrate detailed Answers demonstrate a detailed
knowledge and understanding of ability to select, apply and interpret
sociological theories/concepts/ appropriate sociological theories/
3 evidence relating to the context of | concepts/evidence in the context
the debate/question. of the debate/question.
There will be appropriate use
made of the item to demonstrate
understanding.
3-4 marks 2-3 marks
Answers demonstrate some Answers demonstrate some ability
knowledge and understanding of to select, apply and interpret
sociological theories/concepts/ appropriate sociological theories/
2 evidence relating to the context of | concepts/evidence in the context
the debate/question. of the debate/question.
Some reference will be made to
the item.
1-2 marks 1 mark
Answers demonstrate basic Answers demonstrate a basic
knowledge and understanding of ability to select, apply and interpret
1 sociological theories/ appropriate sociological theories/
concepts/evidence relating to the concepts/evidence in the context
context of the debate/question. of the debate/question.
0 marks 0 marks
NRSP NRSP

© WJEC CBAC Ltd.






1 © Explain two weaknesses of using self-complete questionnaires in this
research. [10]
There should be two weaknesses identified for AO1 band 3. These
weaknesses will contain technical language and will be focused on
methodological problems. For AO2 band 3 the weaknesses must be
explained with reference to methodological issues and the impact on the
research.

Indicative content
e Issues with validity as respondents may lie.
e Researcher cannot clarify questions.
e Sensitive topic.
e Just a snapshot.
o Response rates.
e The item should be used to contextualise the reasons offered
e Any other reasonable response
Band AO1 AO2
elements 2a & 2b element 1b
5-6 marks 4 marks
Answers demonstrate detailed Answers demonstrate a detailed
knowledge and understanding of ability to select, apply and interpret
sociological theories/ appropriate sociological theories/
3 concepts/evidence relating to the concepts/evidence in the context
context of the debate/question. of the debate/question.
There will be appropriate use
made of the item to demonstrate
understanding.
3-4 marks 2-3 marks
Answers demonstrate some Answers demonstrate some ability
knowledge and understanding of to select, apply and interpret
sociological theories/ appropriate sociological theories/
2 concepts/evidence relating to the concepts/evidence in the context
context of the debate/question. of the debate/question.
Some reference will be made to
the item.
1-2 marks 1 mark
Answers demonstrate basic Answers demonstrate a basic
1 knowledge and understanding of ability to select, apply and interpret
sociological theories/ appropriate sociological theories/
concepts/evidence relating to the concepts/evidence in the context
context of the debate/question. of the debate/question.
0 marks 0 marks
NRSP NRSP

© WJEC CBAC Ltd.






1. (@)

© WJEC CBAC Ltd.

With reference to sociological studies, discuss the practical issues involved
when conducting sociological research. [25]

Answers should demonstrate the ability to make sense of sociological
debates, offer sociological examples and explain sociological concepts.
Answers need to use key terminology. Credit will be given to effective
discussion where there is evidence of detailed and wide ranging knowledge.
Where answers demonstrate all abilities to the highest standard, then they will
be consistent with Band 4. However answers demonstrating knowledge but
fewer skills of interpretation and discussion may achieve band 4 for AO1 but
lower bands for AO2 and AO3.

Indicative content
Candidates may refer to some, but not necessarily all, of the following:

o Defining the terms of the question, referring to practical issues and how
some research is difficult to conduct.

Piloting.

Access.

Sampling.

Financing and funding.

Time.

Careers considerations.

Choice of methods.

Personal skills of researcher.

Triangulation / methodological plurality.

Issues of literacy for some vulnerable groups and questionnaires.
Available opportunities.

Operationalisation of concepts.

Proximity to respondents.

Reliability, validity, ethics presenting practical problems for the research
design.

All relevant examples and explanations will be credited. Direct reference to
relevant studies is necessary for answers to gain to the top mark band.
Responses other than those listed above may be valid and credit worthy if
sociological evidence analysis is present.





Band AO1 AO2 AO3
elements 2a & 2b element 1b strands 1-3
9-10 marks 5 marks 9-10 marks
Answers demonstrate Answers demonstrate accurate | Answers demonstrate
detailed knowledge and and relevant selection of detailed, well organised and
understanding of appropriate sociological logical arguments. Logical
sociological theories/ theories/ judgements and
4 concepts/evidence relating | concepts/evidence/research conclusions will be offered
to the context of the methods. These are applied based on explicit evaluation
debate/question as applied | and interpreted in the context of | of the relevant
to research methods. the debate/question. theories/concepts/ research
methods/evidence
examined.
6-8 marks 4 marks 6-8 marks
Answers demonstrate Answers demonstrate some Answers demonstrate
some knowledge and accurate and relevant selection | some, well organised and
understanding of of appropriate sociological logical arguments.
sociological theories/ theories/concepts/evidence/ Judgements and
concepts/evidence relating | research methods. Some of conclusions offered will
3 : ) :
to the context of the which are applied and show some evaluation of
debate/question as applied | interpreted in the context of the | the relevant
to research methods. debate/question. theories/concepts/
evidence/research methods
examined.
3-5 marks 3 marks 3-5 marks
Answers demonstrate Answers demonstrate a basic Answers demonstrate basic
basic knowledge and ability to select, apply and arguments. Judgements
understanding of interpret appropriate and conclusions offered will
5 sociological theories/ sociological theories/ show basic evaluation of
concepts/evidence relating | concepts/evidence/ research the theories/
to the context of the methods in the context of the concepts/evidence
debate/question as applied | debate/question. examined.
to research methods.
1-2 marks 1-2 marks 1-2 marks
Answers demonstrate Answers demonstrate limited Answers demonstrate
limited knowledge and ability to select and/or interpret | limited argument. Any
understanding of and/ or apply sociological judgements and
1 sociological theories/ theories/ concepts/evidence in | conclusions offered will

concepts/evidence relating

the context of the

show limited evaluation of

to the context of the debate/question. any theories/concepts/
debate/question as applied evidence/research methods
to research methods. examined.

0 marks 0 marks 0 marks

NRSP NRSP NRSP

B220U20-1 EDUQAS AS SOCIOLOGY - COMPONENT 2
METHODS OF SOCIOLOGICAL ENQUIRY MS SUMMER 2018/ED
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Sticky Note

6+3+6. Some practical issues addressed (access is implicit).  Good use of specific methods to highlight practical issues. Some studies used to explain issues.  Lacks focus towards the end.
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Sticky Note

4+3.  Two clear reasons given with good use of methodological terms but not contextualised to the item so full marks not awarded.
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Sticky Note

5+4. Clear use of terms and contextualised to the item. Second reason not contextualised explicitly. Reference to study not needed as does not answer the question
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Sticky Note

2+1. Clear definition but focus only on time consuming rather than the idea that the same group is revisited.  Ref to studies not needed as this distracts from the item.
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Sticky Note

8+5+10. Clear focus on practical issues. Studies and key terms used to explain significance of practical issues. Not full marks for AO1 as only 1 study explained in detail.
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Sticky Note

3+2 First paragraph doesn’t answer question and wastes time. The item is not used to contextualise reasons and therefore doesn’t fully answer the question. Best to use one paragraph for each reason to help give two distinct reasons.
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Sticky Note

4+3 A general reason is given rather than contextualising to the item. The second reason uses methodological terms and mentions the item but is tagged on rather than contextualised. Time is wasted referring to other studies as this doesn’t answer the question. 
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Sticky Note

3+2 clear definition given. Candidate uses terms relating to longitudinal studies used E.g. snapshot, changes and patterns. Clear ref to item and methodological terms used accurately.
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Sticky Note

1+1 brief definition given and brief use of the item to show changes and patterns - lacks key terms/development.  Doesn't explain how same group is revisited.
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Sticky Note

2+2. Two reasons given but undeveloped. Needs to focus on why more that one method was used by the researchers in terms of methodological issues.
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Sticky Note

3+2+2 lists practical issues and uses two studies but undeveloped and therefore limited.











Read the following item and answer each part of the following question.

Gang membership and teenage offending

Smith and Bradshaw (2005) undertook a longitudinal study to explore gang membership and youth
offending. The study used a wide range of research methods including self-complete questionnaires
with young people, conducted annually to identify changes and patterns. This was followed by semi-
structured interviews, for depth and detail with a sub-sample of young people. At the same time, a
sample of teachers and parents completed questionnaires. The researchers also examined records
of social work reports and children’s hearings (a type of youth court). Smith and Bradshaw concluded
that rates of gang membership were higher in more deprived areas and among one parent families.

(b)

(c)

(d)

Adapted from AS Sociology, Moore, S. Aiken, D. and Chapman, S. (2009)

Answer each part of the following question.

Using material from the item and sociological knowledge, explain the meaning of the term
longitudinal study. [5]

Using material from the item and sociological knowledge, explain two possible reasons
why the researchers decided to use more than one method in their research. [10]

Explain two weaknesses of using self-complete questionnaires in this research. [10]

With reference to sociological studies, discuss practical issues involved when conducting
sociological research. [25]
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